Al

E 0l &

Ab e E A A

o D123l (EEREED)

SM - B - O9I(SH) - HISAY - BaS il pEL" HIDS2
QIR 3,660,436 2,493,537 1,166,899
= 303,413 303,413 0
£ 9,000 0 9,000
= 67,664 32,400 35,264
= 3,280,359 2,157,724 1,122,635
A2 ZHI(2I&) 39,160 47,980 18,820
Jl=&H 39,160 47,980 18,820
Jl=&l 39,160 47,980 18,820
202 04l 6,300 15,120 18,820
01 204l 6,300 15,120 18,820
Oozeloidl(2E2!) 75,0002+ 7 &+ 122 6,300 15,120 28,820
DEA QIRAMEIA WS 312,302 311,702 600
= 37,615 37,615 0
= 274,687 274,087 600
MIFOI QIAXCIHME 2 230,607 230,007 600
= 10,000 10,000 0
= 220,607 220,007 600
QIRAMEHIA HIZ 165,127 164,527 600
201 L] 83,627 81,827 1,800
01 At22t2lH| 35,923 34,123 1,800

OBest ZIEZRE ZHAE HAIRIR =&

600,000 *3¢! 1,800 0 1,800
202 4l 7,200 14,400 A7,200
01 204l 7,200 14,400 A7,200
Oty g R+ 100,000 +62!x 122 7,200 14,400 27,200
303 ZAa2 9,100 3,100 6,000
01 Z&= 9,100 3,100 6,000
OBest B3R ZHIAE Al 6,000,000 6,000 0 6,000
EXNFEXE 2el 3,256,974 2,081,970 1,175,004
= 265,798 265,798 0
£ 9,000 0 9,000
= 67,664 32,400 35,264
= 2,914,512 1,783,772 1,130,740
A2PE XEUAMEIA XIE 593,595 461,131 132,464
= 12,390 12,390 0
[ 53,464 32,400 21,064
= 527,741 416,341 111,400
ANHQA & KNEHZSEE 175,154 178,850 N3,6%6
201 LEH2HH| 112,044 115,740 A3,6%6
01 AFR2teld] 104,874 108,570 N3,6%6
Oget+=ZH| 102,314 106,010 23,696
OXHIIEE X2 16,104 19,800 A3,6%6
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Do
D EXEERNE 2

DaggtE XNEQFEAEA KR (=l &)
S - BB SRA(SIH) - HIRAY - BES il &k pE-L" BlRE2
‘ o NEEZHE 16,104,000& 16,104 19,800 A3,69%6
FSUEEXIY 29 412,281 282,281 130,000
= 12,390 12,390 0
= 51,000 32,400 18,600
i 348,891 237,491 111,400
201 LB 130,000 80,000 50,000
< 8,400 8,400 0
i 121,600 71,600 50,000
02 2324| 110,000 60,000 50,000
OOIN LTAE AMEX S SII2
00& 110,000 60,000 50,000
< 7,500 7,500 0
i 102,500 52,500 50,000
301 LEtBE S 220,000 140,000 80,000
= 33,600 15,000 18,600
i 186,400 125,000 61,400
12 JIEIE A= 220,000 140,000 80,000
ORSMEEIXY 250 =
220,000,000 220,000 140,000 80,000
L= 33,600 15,000 18,600
i 186,400 125,000 61,400
MASXA &1 24 6,160 0 6,160
L= 2,464 0 2,464
i 3,696 0 3,6%6
201 LEt2 Y| 6,160 0 6,160
< 2,464 0 2,464
i 3,696 0 3,69%6
01 AtR2teld] 6,160 0 6,160
OXNEI|IZ=E 4X === 77,0003 *80& 6,160 0 6,160
L= 2,464 0 2,464
i 3,696 0 3,6%6
NIETHZEAL 22| 2,110,798 1,089,298 1,021,500
= 253,408 253,408 0
i 1,857,390 835,890 1,021,500
NI ETHZEAL 2te] 1,857,390 835,890 1,021,500
201 LEt2 Y| 184,490 121,490 63,000
01 AtR2teld] 164,250 101,250 63,000
Oggt==2H| 157,610 94,610 63,000
OXNEMEAL ZE S dEBIe2
19,000, 0003 *6H K| = 114,000 51,000 63,000
202 (44| 12,900 14,400 21,500
01 =LHOLI 12,900 14,400 21,500
OXIETHEZAL HRFA 8,100,000 8,100 9,600 A1,500
401 AIEHIZL 20HY] 1,660,000 700,000 960,000
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2A:
X XH -
o=

=oak

ol
EXNZEXNE 2el
KIETHEAL 22|

2A - - A(FH) - HIRA - BES 0| &roH J|EH Hlwsz
01 AlZHI 1,660,000 700,000 960,000
OXIETHEAAIY ZEZ FHAH2020)
960,000,000 960,000 700,000 260,000
OXIEMEAAIY ZH2 HAH2021)
700,000,000 700,000 0 700,000
2EE AL 552,581 531,541 21,040
S 9,000 0 9,000
[= 14,200 0 14,200
= 529,381 531,541 A2,160
C2Y FAn 300,715 302,875 A2,160
202 OiH| 8,640 10,800 A2,160
01 20| 8,640 10,800 A2,160
OB P24 160,0002%321x 122 5,760 7,200 A1,440
OZHSHSEN L UL =X
80,0002%301x12& 2,880 3,600 AT20
C2AES HHAILS AX 14,200 0 14,200
< 14,200 0 14,200
401 AlAHI 2SO 14,200 0 14,200
[= 14,200 0 14,200
01 Al&HI 14,200 0 14,200
OZYUTZ TANBAAS SX(LEH)
355, 0002 *407H 14,200 0 14,200
[= 14,200 0 14,200
S22 HTES ALY 9,000 0 9,000
S 9,000 0 9,000
401 Al HI2 20| 9,000 0 9,000
£ 9,000 0 9,000
01 Al&H| 9,000 0 9,000
OLaNe 2T s=(48d)
50,0002 *1807H 9,000 0 9,000
£ 9,000 0 9,000
Hess(ora) 215 100 115
HEXE 215 100 115
BX3 gEa 215 100 115
802 BHat20|E 215 100 115
01 2NEX3pe= 215 100 115
OXIETHEAAIY BX3 0| XpeayoH
100,000 100 0 100
ORSHEEXIY BXZ 0| XrerayoH
15,0002 15 0 15
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